
Answer on Question#43917 – Math – Geometry 

A rectangular garden 10 m by 16 m is to be surrounded by a concrete walk of uniform width. 

Given that the area of the walk is 120 square meters, assuming the width to be 𝑥, form an 

equation in 𝑥 and solve it to find the value of 𝑥.  

Solution:   
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The area of the walk is: 

𝐴 = (16 + 2𝑥)(10 + 2𝑥) − 16 ∙ 10 = 160 + 32𝑥 + 20𝑥 + 4𝑥2 − 160 = 52𝑥 + 4𝑥2 

So  

52𝑥 + 4𝑥2 = 120 

4𝑥2 + 52𝑥 − 120 = 0 

𝑥2 + 13𝑥 − 40 = 0 

𝑥 =
−13 ± √169 + 160

2
=

−13 ± √329

2
 

𝑥 must be positive 

𝑥 =
−13 + √329

2
≈ 2,6 𝑚𝑒𝑡𝑒𝑟𝑠 

Answer: the width of the walk must be 𝟐, 𝟔 𝒎𝒆𝒕𝒆𝒓𝒔 
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